S 280 &
M AARSES AW LI (SHULBH/25H012)
ool Xoes s (el &
5 s SiE|
FA - B - SA(AH) - NRMY - BES Ol &k 4 ‘agﬁ Hins2
2stilsn 71,262,505 61,528,742 9,733,763
= 2,607,510
z 22,386,000
pJ 5,424,130
=S 40,844,865
LRUSEO W LS (SFUBB/230B) 71,227,504 61,496,879 9,730,625
= 2,607,510
z 22,386,000
pJ 5,424,130
=5 40,809,864
Xes 2 7,511,673 6,476,275 1,035,398
SssHN 29 X 225,000 210,000 15,000
307 QI2+0I & 225,000 210,000 15,000
Boaigdedy2E 225,000 210,000 15,000
O 9 230z 24| 225,000
SIS 2 Was 4,209,598 3,275,000 934,598
306 012 4,209,598 3,275,000 934,598
01 593 4,209,598 3,275,000 934,598
o230z MEAMY 1,500,000
oUW S| 2,709,598
Xoe2s eSS X 2 (HeAY) 1,988,000 1,988,000 0
308 XHXI EHX SOl & 1,988,000 1,988,000 0
01 MXSHBLEES 450,000 350,000 100,000
OXNS Moz N (M) 450,000
11 B BSOE A A H SIS AA Y] 1,538,000 1,638,000 £100,000
OXA st SHB XA (HE) 1,538,000
Xgesid eg 2435 233,275 199,275 34,000
202 01 1,275 1,275 0
01 24014l 1,275 1,275 0
oxg=sd 29 45 =X 1.275
308 XHXI EHX SOl & 212,000 180,000 32,000
01 MXSHBLEEZ 212,000 180,000 32,000
ONY2EE Ay 29 180,000
OS3tARE D NSAH 2% 32,000
403 XX S H S X201 A 20,000 18,000 2,000
01 REXI SR X2 8 = 20,000 18,000 2,000
osd=2sY My Y 1 20,000
AT 259 2 Il 3,000 60,000 A57,000
201 gere gy 3,000 10,000 AT7,000
01 At 2reiHl 3,000 10,000 A7.,000
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OZAL =519 Z JIEHA 3,000
N2 24 28Ae 84 100,000 100,000 0
308 XXI €% S 0l & 100,000 100,000 0
0l RSB RES 100,000 100,000 0
OANZ 24 2HNY SH(22) 100,000
TeiNME 285 X2 62,800 0 62,800
201 LBt Y| 4,000 0 4,000
01 AL 22l 4,000 0 4,000
OXNAME 9I5| 29 4,000
308 XHXI € &I S 0l & 58,800 0 58,800
01 RXSHBARES 58,800 0 58,800
OXNAANE Y 2A48Y 18 18,000
OZUW OIENE AT 40,800
SHE A=t SEXNA(HMEMNY) 690,000 0 690,000
308 X+ Xl EH A S 01 & 690,000 0 690,000
1121 ZHSOIHEt 2 & & 2|t AL b 690,000 0 690,000
OBUY MAFCH SN (M) 690,000
SEIIBAEY NSEE 13,585, 189 11,415,000 2,170, 189
2 7,825,000
= 5,760, 189
N2 el Al&H XS (HEAY) 1,100,000 700,000 400,000
403 XHXI GHHI S TH 0] ® 1,100,000 700,000 400,000
01 REXIEHA K2 2 = 1,100,000 700,000 400,000
oFH2sY ZE(HE) 1,100,000
MBS ME E4(2D) 4,825,000 5,727,000 902,000
2 4,825,000
403 XHXI SR S X2 0| & 4,825,000 5,727,000 902,000
2 4,825,000
01 RXISHIH= 2 4,825,000 5,727,000 902,000
O(=8)Ed &S 02 25 MEH 240,000
2 240,000
O(=8)EH ASH M2 ME 290,000
2 290,000
O(=8)E NEH B2 ME 450,000
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O(=8)S8 HRBAEC N 300,000
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O(=8)Ss 12EI| MEB23 ME 430,000
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O(=8)SH 4225 ME 222,000
2 222,000
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2MX: S30=1
Hm: AASHO| M U (SHYB/250 L)
el 2BIlBAIMY] KSHE (cto: a9
5 4 14
SA-EY S () - NEAY - B Ofl &F 0 agﬁ RS2
| = 1,350,000
Moot HE (HEALY) 325,000 1,560,000 A 1,235,000
403 XX SHHS K201 & 325,000 1,560,000 AN 1,235,000
01 XIXISH A28 X 325,000 1,560,000 N 1,235,000
OMA Zt2dstat HE (HEH) 325,000
23d OlAB8HE 29 185,000 185,000 0
308 XX EHMSOIA 185,000 185,000 0
11 I 2S00 SHE A X P E A I 185,000 185,000 0
oad otYzsHE &9 185,000
Z=2Ap =2 29 22 60,189 53,000 7,189
307 cI2tol & 60,189 53,000 7,189
05 DIZ2HRIEZ 60,189 53,000 7,189
ozARHzT e 60,189
S3=rE 2,049,900 1,743,800 306, 100
Esldlzs 2&Egs & 1,359,000 916,000 443,000
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oL =M&HFAlS K& 20,000
=45 230z DAY 25,000
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o2X gases 20,000
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2M: 23H0=

M LR MY AL 22 /250 =)

e MBI 243 (cte M
SA B S (SIH) - NRAY - S Ol & 0 S H RS2
FOI2s0lzns KNI (HMEAY) 200,000 200,000 0

307 2120l A 200,000 200,000 0
02 QIZtE &AL E = 200,000 200,000 0
OROI2s Mz XA (HEH) 200,000
stwol Reizws B43H(=1) 903,260 903,260 0
= 451,630
= 451,630
307 glz2tol & 903,260 903,260 0
= 451,630
< 451,630
02 QIZHH &AL E X 903,260 903,260 0
Ostwi=Z At XA (=2 Z0F) 903,260
= 451,630
= 451,630
Folfl=od 24 (=1) 156,000 195,000 239,000
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= 78,000
307 21=2+01 A 156,000 195,000 239,000
= 78,000
= 78,000
02 BIZtHAAMPE X 156,000 195,000 239,000
OZtHz=nSAN 8 Az25 N 156,000
= 78,000
< 78,000
23nEL 2Z(=31) 60,000 50,000 10,000
= 60,000
308 XFXIEHHISOIE 60,000 50,000 10,000
= 60,000
01 HXHHILEXS 60,000 50,000 10,000
o=2stitEs 29 K& 60,000
= 60,000
ANE 230z usIIe A= (MSAY) 883,200 0 883,200
307 glz2tol & 883,200 0 883,200
02 QIHH &AL E X 883,200 0 883,200
OXNZ2a0z=nsIE AF(ME) 883,200
A2 EEE 84 12,786,315 7,014,227 5,772,088
= 1,390,000
= 11,396,315
HEUH2ESAM NE XS (HEAY) 1,600,000 1,700,000 A 100,000
307 g1z2tol & 1,600,000 1,700,000 A 100,000
02 QIHF &AL E X 1,600,000 1,700,000 100,000
OBHU2HESAM NN (ME) 1,600,000
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SN 230en
M YALSSo B LSH(BALAY/20E)
B9 YW 2oYE 84 (&9 &8
% 5 15|
2N -3 - (3H) - NHEAMY - BE= Ofl &F o a&% Hws2
P EEEREES) 480,000 480,000 0
OXNGHWEBAUEH B2FT (M) 480,000
M12s ME &I HE NR(=D) 5,391,500 0 5,391,500
= 1,390,000
= 4,001,500
202 01| 1,500 0 1,500
01 2ot 1,500 0 1,500
OM 128l MHE NS HE X 1,500
308 XHXI & H SOl & 5,390,000 0 5,390,000
= 1,390,000
= 4,000,000
01 IR SR TS 5,390,000 0 5,390, 000
OM128 MHEZMS N X 5,390,000
= 1,390,000
= 4,000,000
SN AY L 29 243 X 14,318,120 17,965,200 13,647,080
= 10,061,000
= 4,257,120
HESAHZ A X8 60,000 65,000 A5,000
403 RXSHSRZ0IH 60,000 0 60,000
01 XFXICHHM Xt 2 = 60,000 0 60,000
OUWEENE A X 60,000
TZEND A NR(2D) 13,638,000 17,343,000 A3,705,000
= 9,486,000
< 4,152,000
403 XtXI A S K20l & 13,638,000 17,343,000 ~3,705,000
= 9,486,000
< 4,152,000
01 HAISHX =2 F 13,638,000 17,343,000 3,705,000
OEHANYHAECHE 2222 2,175,000
2 1,500,000
= 675,000
ONHEA THB(NBZA ) 3,884,000
= 2,638,000
= 1,246,000
ORFHES IYH A 1,650,000
2 1,160,000
= 490,000
OSHAl 012101 & A EE A2 1,156,000
= 720,000
= 436,000
OBF LNIHLAECNZ 912,000
=) 500,000
= 412,000
OB Fu DM CHB 832,000
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SN 250ED
Hu: AASSO IW Y (2ALBB/2500)
S RRBHUINY 84 (ere:a8)
SH-BH S (BAH) - HRAMY - BLS 01l &k o e SimE=E"
01 At 22l 7,000 7,000 0
OSHRHUXNY RIS (ICT S) 7,000
202 01t 11,560 14,450 A2,890
NETET 11,560 14,450 £2,890
OSHBHXNY JIBEY 11,560
307 glztol A 2,850,000 2,847,000 3,000
02 DI A AL B 2,850,000 2,847,000 3,000
oLHANNY X E 1,050,000
OBEHYSASH N 1,800,000
308 XHXIEHHI SO ™ 1,079,720 899,600 180,120
NEEENENEEE 1,079,720 899,600 180, 120
OEW SN BAd =3 420,000
oo g3 HUMOIL 2e= M 114,720
OAERID YUs Ha0ie X4 30,000
o235 23%J H1a 100,000
OUEZt e-A T (45 &K & 20,000
OLES SYUEIH &Y N 60,000
02022 2B IR 300,000
ONIEIHA 28 DICIHME AL 20,000
ASHIO S(2222)HAEY 15,000
YT HEV - 02V 2Y LY 346,000 792,000 446,000
308 XHXI A SO ™ 346,000 792,000 446,000
01 HXEHBAEES 346,000 792,000 446,000
OYHUE U2H - 0|2 2Y FHI 200,000
owE s BAVZ N 96,000
OROPIIE %22 IS 29 40,000
OHZXY B AT 10,000
SN LAY (HEAY) 870,000 986,000 ~116.,000
308 XHXI €A SO & 870,000 986,000 ~116.,000
01 I EHBHEES 870,000 986,000 ~116.,000
OFF BHEAE SHNY X4 () 435,000
O%Z BHEAE SHNY X4 () 435,000
AX 2HTA ZH(2D) 1,950,000 1,950,000 0
2 1,500,000
= 450,000
308 XHXI €A SO & 1,950,000 1,950,000 0
2 1,500,000
S 450,000
01 X EHBHEES 1,950,000 1,950,000 0
ORE RHZA =4 1,950,000
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fAM: 230l=1
M LR MY AL 22 /250 =)
Gl 2sRHxA S4 (cto: a9
. 4
SN EAEA) - MEAY - BES 0l &k o e SmEET
s 1,500,000
= 450,000
NEEs2H = e NJAAL (2T XA) 400,000 400,000 0
307 21201 & 400,000 400,000 0
02 QIZtE &AL E = 400,000 400,000 0
OXNZEs 2= ML XA 400,000
E& 23T A 24 (=21D) 1,950,000 0 1,950,000
s 1,500,000
= 450,000
308 X EHSOIA 1,950,000 0 1,950,000
s 1,500,000
S 450,000
01 HXESHBILAEXS 1,950,000 0 1,950,000
OFH 2= Al =4 1,950,000
s 1,500,000
= 450,000
28 BEEA 2H(=21) 1,950,000 0 1,950,000
s 1,500,000
= 450,000
308 AUXIEHSOIA 1,950,000 0 1,950,000
Fas 1,500,000
= 450,000
01 HXESHBILEEXS 1,950,000 0 1,950,000
OZE 2= A =4 1,950,000
s 1,500,000
= 450,000
= OIJHHIDI 2 E THUES ALY 20,000 0 20,000
308 X EHSOIA 20,000 0 20,000
01 HXHHILEXS 20,000 0 20,000
O3 OI2IOIDI=E MAUEE MY 20,000
HE2AZH (Sst0l=2)(JIEH/IIE) 35,001 31,863 3,138
Jl= &l 35,001 31,863 3,138
FHN2E JI2Zl 35,001 31,863 3,138
201 g2l 24,903 22,449 2,454
01 At 22l tl 24,903 22,449 2,454
FA2E AtR2eltl 24,903
202 o4l 6,498 5,814 684
01 =LA Bl 6,498 5,814 684
OFMEE =UObI 6,498
203 YR =2 3,600 3,600 0
04 EN2IHRFAH 3,600 3,600 0
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